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Question 1
Question Type: MultipleChoice

You see errors such as the following in the SteelHead messages log ''error=SMB_SHUTDOWN_ERR_SEC_SIG_ENABLED''. What do

these indicate?

Options: 
A) SMB signing has been detected on SMB sessions which the SteelHead attempted to optimize, but SMB signing is not configured on

the SteelHeads.

B) The SteelHeads are configured to carry secure traffic over SSI and the inner channel failed to establish.

C) The optimization service encountered an error, and the SMB blade has been shut down.

D) The SteelHead encountered a kernel error and was forced to shut down.

E) The server send a secure signal to terminate an optimized SMB session.

Answer: 
A

Question 2



Question Type: MultipleChoice

A customer has recently implemented data store synchronization. The SteelHeads are reporting ''Duplicate data store id.'' What is the

probable cause?

Options: 
A) The SteelHeads are in a serial deployment with no peering rules set in order to avoid peering with each other.

B) The data store sync has been configured without restarting the services.

C) The SteelHeads are in a parallel deployment and have not bad connection forwarding enabled.

D) SteelHead Mobile has been implemented without increasing the peer table on the Server Steelhead.

E) The SteelHeads syncing their data stores are running different versions of RiOS.

Answer: 
A

Question 3
Question Type: MultipleChoice



What type of problem does the error message below indicate:

Sep 13 03:50:51 SH alarmd[18371]: [alarmd.NOTICE]: Alarm 'admission_mem'triggering

Sep 13 03:50:51 SH alarmd[18371]: [alarmd.NOTICE]: Alarm 'admission_control' triggering

Sep 13 03:50:51 SH alarmd[18371]: [alarmd.NOTICE]: Alarm 'health'severity changed to 'Admission Control'

Options: 
A) High CPU Utilization

B) Paging alarm

C) Admission control on connections

D) Admission control on memory

E) Admission control on system

Answer: 
D

Question 4



Question Type: MultipleChoice

-- Exhibit --



-- Exhibit --

Refer to the exhibit. On the Current Connections report, what does the number under "WAN KB" represent?



Options: 
A) Segments

B) Datagrams

C) References

D) Packets

Answer: 
C

Question 5
Question Type: MultipleChoice

What is ''Peer Affinity'' on an Interceptor appliance?

Options: 



A) Which parallel Interceptor appliance an Interceptor appliance is most likely to forward traffic to

B) Deciding which of the two serial Interceptors handles more traffic

C) Matching remote Steelhead appliances to a local Steelhead appliance

D) The shipyard from which Riverbed is most likely to ship Interceptor appliances

Answer: 
C

Question 6
Question Type: MultipleChoice

The default setting for ''allow failure'' in the Interceptor appliance version 2.0 is: (Select 2)

Options: 
A) Is configurable

B) Is not configurable

C) Enabled by default



D) Disabled by default

Answer: 
A, D

Question 7
Question Type: MultipleChoice

For In-path rules on an Interceptor appliance, Source and Destination subnets are specified in what format? (where ''x'' is any single digit

number):

Options: 
A) xxx.xxx.xxx.xxx netmask xxx.xxx.xxx.xxx

B) xxx.xxx.xxx.xxx / xx

C) ''all subnets''

D) xxx.xxx.xxx.xxx.xx



Answer: 
B

Question 8
Question Type: MultipleChoice

Which statement is true regarding ''fair-peering''?

Options: 
A) It is a default parameter

B) It enables load distributed using round-robin

C) It enables load distribution using peer affinity

D) It can be configured as part of a load-balancing rule

E) It automatically redistributes connections equally among all appliances in a cluster when a new appliance is added to the local cluster

Answer: 
D
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